ОТБОРНО  КЛАСИРАНЕ  МОМЧЕТА  И  МОМИЧЕТА  ДО  12 ГОДИНИ

МОМЧЕТА
1.„Корабостроител – 92” – 1,2,10 / 220+198+135,3=553,3 /
2.„Свилоза” – 3,4,8 /176+170,5+148,5=495,00 /
3.„Комета +” – 5,6,30 /165+159,5+101,2=425,7 /
4.„Кабаков” – 12,13,17 /130,9+128,7+115,5=375,1 /
5.„Варна – 2015” – 7,33-48,33-48 /154+97,9+97,9=349,8 /
6.„Дунав” – 16,32,33-48 / 122,1+99+97,9=319 /
7.„Локомотив – 50” -  22,24,33-48 /110+107,8+97,9=315,7 /
8.„Комфорт” – 28,33-48,33-48 /103,4+97,9+97,9=299,2 /
9.„Златен век” – 29,33-48,33-48 / 102,3+97,9+97,9=195,8 /

[bookmark: _GoBack]МОМИЧЕТА
1.„Роса -1” – 4,6,8 /170,5+159,5+148,5=478,5 /
2.„Корабостраител-92” 1,18,19 / 220+114,4+113,3=447,7 /
3.„Свилоза” – 2,16,27 / 198+122,1+104,5= 424,6/
4.„Боровец” – 7,9,12 /154+137,5+130,9=422,4/
5.Две могили – 13,15,21 /128,7+124,3+111,1=364,1/
6.„Дунав” – 20,22,23 / 112,2+110+108,9=331,1/
7.„Комфорт” – 14,30,31 / 126,5+101,2+100,1=327,8 /


ОТБОРНО  КЛАСИРАНЕ  Юноши и Девойки ст.възраст
ЮНОШИ
1.„Корабостроител-92” – 2,3,9 /198+176+137,5=511,5/
2.„Дунав” - 4,6,7 /170,5+159,5+154=484 /
 3.„Роса – 1” – 5,13,33-48 / 165+128,7+97,9=391,6 /
4.„Тетрон” – 8,14,17 /148,5+126,5+115,5=390,5 /
5.„Пътинженерингстрой” – 11,15,28 /133,1+124,3+103,4=360,8 /
6.„Свилоза” – 10,19,25 / 135,3+113,3+106,7=355,3 /
7.„Искър -97” – 20,23,33-48 /112,2+108,9+97,9=319 /
8. „Варна 2015” – 16,33-48,33-48 /122,1+97,9+97,9=317,9 /
9.„Комфорт” – 21,33-48,33-48 /111,1+97,9+97,9=306,9 /
10. „Златен век” – 30,31,32 / 101,2+100,1+99=300,3
11.„Кабаков” – 29,33-48,33-48 / 102,3+97,9+97,9=298,1 /
12.„Локомотив-50” – 33-48,33-48,33-48 / 97,9+97,9+97,9=293,7 /
13.„Лудогорец” – 33-48,49-64,49-64 / 97,9+80,3+80,3=258,5 /
ДЕВОЙКИ
1.„Корабостроител-92”- 1,11,13 /220+133,1+128,7=481,8 /
2.„Комфорт” – 2,6,22 /198+159,5+110=467,5 /
3. „Дунав” – 4,7,25 /170,5+154+106,7=431,2 /
4.„Бдинци 2000” – 3,8,26 /176+148,5+105,6=430,1 /
5.Две могили – 9,10,12 / 137,5+135,3+130,9= 403,7 /
6.„Свилоза” – 5,16,33-48 /165+122,1+97,9=385 /
7.„Искър 97” – 17,19,20 /115,5+113,3+112,2=341 /
8.„Лудогорец” – 27,28,31 / 104,5+103,4+100,1=308 /
9.„Локомотив-50” – 29,33-48,33-48 / 102,3+97,9+97,9=298,1 /











